Martin Minski
13th ARVES Jenever Tourney 2021
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1.b6 Nb5+ 2.Ka8 Ra7+! 3.bxa7 Nc7+! 4.dxc7
main A: 4...Qf8 (threatens 5...Kxc7#)
5.Nd5 Qe8! (threatens 6...Qxc6#)
6.Be6+! play for stalemate
6...Qxe6 7.Ne7+! Kxc7 try to avoid stalemate
[main 7...Qxe7 8.g7 Qeb (8...Oxg7 White is stalemated,
8..Kxc7 9. g@Q QeS8+ 10.0xe8 Black is stalemated) 9.g8Q+ Qxg8
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White is stalemated]
8.27 Qxe7
[8...Qa2 9.28Q/R Qxa7+ 10.Kxa7
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Black is stalemated]
9.28Q Qe8+ 10.Qxe8
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Black is stalemated

main B: 4...Qxf4

5.g7 Kxc7 try to avoid stalemate

[main 5...Qf6/Qe5/Qg4/Qh6 6.Be6+! (6.Bd5? Oxg7—+)

6...Qxe6 7.g8Q+ Qxg8 White is stalemated;

main 5...Qe4/Qf3 6.Bd5! (6.Be6+? Kxc7 7.g80Q Oxc6#) 6...Qxd5

(6...0e8 7.g80/R Kxc7+ 8.Dxe8 Black is stalemated) 7.g8Q-+/R+ Qxg8 White is stalemated]
6.Bd5! [6.Be6? Qed/Qf3 7.g8Q Qxco#]

6...Qad [6...Qf6 7.g8Q/R Qf8+ 8.Qxf8 Black is stalemated]

7.28Q/R Q)@7+ 8.Kxa7
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Black is stalemated




